6.3 B

EZRVE R

Y
(1) -5
(2> Ta+6b | | §
o) RN
(3) /2 20N E
(4) y= -2
(5) | xr= -8 , x= 9 (8) 54.5 Ji]
(6) 0.35 (9) | BXZE 420 A
(1) 12
(i)
(f51)
HEEL, AEEO, @, L35,
AXA  BXEA
® FEASH 2 eI
2 ! 3 3
@ AZADEEDS, 1
(2) . 9 _ 3
@ ® BEADBEN, 1y=—3
3 é TEAEC ARG
@ HEDHR T SITEWAZR W,
1
@ @
(1) 3 (2) | A 2(n+1) B Ly
(GEW)
(f51)
W3 530D KIL, mO/NPSIVHEmMELT,
m, m+1, m+2&FEIhb,
BHAFDOKD2FD 512NN 221,
3 3 (m+1)2—1=m?+2m+1-1
=m*+2m
=m(m+2)
L72235T, #HT53200BKDHIL, BEAFTORD2HN5
1 Z20W2EE, wmH/PEIEE RO REIVEORMIZR S,
(4) @ 3 C v

2
et B

2

2

2 | 2
¥ (VNG
I ———— 1

18 i

emimimimimrmm -

 (Fd )
(1) 2320 =
2
(2) t 2
3
(3) 340 —
% (Ve
(1) 5P, Qe¥228 W 5 w7 S i
(GIEHY)
(f51)
AAFELABCEIZBWT
BELACEDS
/FEA=Z/CEB=90° -+ @
ANADCIZZADC =90° D= ﬁﬁt#
Z/EAF+ /BCE=90° NG  (Fic )
ABCEIZZCEB=90°® ﬁ_ﬁﬂt# o
2 41
(2) /EBC+ /ZBCE=90° O N
@, @D 5
/EAF=/ZEBC ¢S R [ — ,
<1CMD,2ﬁ@ﬁ#%n%n£Lw@f ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
AAFE» ABCE 3
¥ (/B
12 i
(3) (@.9.©@® (A.B.D,E)(C.D,E,F)| 388
MR
4 ‘ ]
(4) 25 fis (L)
2 &R
(1) #BF, #wce ? 7777777777777
4
2J/13
(2) cm
3 ><</J\n1‘>
(3) 32 cm’ 9
NAPAS=
Ea— x (BFh
ﬁ 60




